
K, Dernrlty {1. 4, Fryr,. Uf- Bg : 4-s/ 4-/A,4-?a

0ka
? t'ilna €F"=a,

t+w
laf?

Nrr

ilee

Alep

Alor

4t
{,.
"q/t

?ttl -- 4'', "^ ,k***ts/V* €n"a, -?tu+4!wt Na=o

,8*tt-3L 4LU- '' , 
Nsa= fkff

ffi rua, 2n"8, -8tg*4ta/*6*$*Alrn- *
!ti/ 4*n lt?Af -"*?W 

iltP= - ? lrl
t ? _:7 . .T uo, 5 F"= 0, -ghf r4tu t /*N-?*itl*Nou*0

ilrr= o

- 8&,V t Nrr= I
rV16= 81il

t,904 N

#/vfo= 0, (* ,rr) (2") - (4ao* N) b*)= o

Far= 2,00CI N

= 0.005 /0 8 n
'10,f 

x lil6 W\ffi/

etu)ha)

/.€rt 0,0/€lE*n= 2.506/t3n

/aw sf turi,rer : k.gagtggil?= 1z*Y t (t,sw)t- 2 k)0,6dJ cor g
O = 90.?4 773'

o(= O- qge = 0.217rut

4tt {l* (4,2S ?73') = di(Faya#

= t PL , !rpe,: Ai t"nrhn/ = I -< PL
"/ A€ 462^

= /, -- _, / rsh,)tt*) t |ttil(sa) *
Q ft,dii*i'(za.t xuc l,A/\{
1 m,l

= 6.*l?x/0-{* o,VT?nrym

-;---+
try

(aao4)/a)=

/rl&ro, = 0.0/f z?a - VT{;t



lt ,\ J
K, l/{h/r{ft*

f
4, 4, Pf. t35-Bf : 4-6, 4-B,4.zl

@c:

,XFt** 
f

fi:

da/e = ( t=

AE
(A ,, frxr/fsr bpr,*

Htit
2 af?

affi*P
4r/ \'", 26'*,'F* *r* Eg" t e, rt* drs *0

Far= &
2{-=0, - 4r*r 6dd' 6o &r ds* r P,

?Qnilr 6Aer P
F6n * P 1c)
Fm=P(r)

51= 0, -4* + Par 68P * 0
1r. 0.€ p {r)

tf

= 0,oG it
rrps*af )

0,d4ea =(on:1,:3m*_
( o,T€,ut) tef, at t;g1

P = (, ?f F l,p *wq l,il


